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Q:) Honeycomb structure is found in
(BECIL NMRC JE CIVIL 15.09.2019)

A : Course san@g
\A&: Fine slit.and clay

C : Highly plastic cl

D: Gravelv<




Q:) Negative pore pressure can develop in
(Civil ESIC JE 2019)
A : Loose sand and over-consolidadated clays

J/: Dense sand and over-consolidadated clays

C : Loose sand and normally consolidadated clay
D : dense sand and normally consolidadated clays

°l‘"5€ Sand - 0¢
* Sond— MOYmaﬂ% %




Q:) Geologic cycle for the formation of soil, is ......

(SSC JE 2 march 2017 evening shift)

OR

The geological cycle of the formation of the soil is

(HPSSSB JE 03-07-2016)

A : Upheaval - transportation - deposition > weathering
B : Weathering - upheaval - transportation - deposition
C : Transportation - upheaval - weagthering - deposition

(yWeathering transportation

o) ok




Q:) The collapsible soil is associated with:
(UPRVUNL JE 09-11-2016)
A : Dune sands

B : Literite soil l\&iW‘L So\'ﬂ‘

C : Black cotton soil

\gZLoess soil




Q:) In soil engineering what is the volumetric

relationship that defines-porosity? \/V
(SSC JE 23-09-2019 morning) m‘:"" ’\T

A : The ratio of the volume of water to the volume of
vaids

B : The ratio of the volume of air to the total volume
C : The ratio of the volume of voids to the volume of

salids C Voidtah)
L(y/The ratio of the volume of \?igls to the total
volumne -
CASEARGEN
) Mam. l"'")']

e ——




Q:) Which one of the following parameters can be used

to estimate the angle of friction of a sandy soil-

(RRB JE Shift-111 30.08.2015)

A : Particle size

B : Roughness of particle < 62 Jy
\: Density index < a.,° 0 — 9‘008.!. S

D : Particle size distribution O Q&) ,,L, !

nd




Q:) In a wet soil mass, air occupies one-sixth of its
volume and water occupies one-third of its volume.the

void ratio of the soil is:
(L.M.R.C. JE 2015/ESE 1995, 2010)

A:0.25

s:05y,| | 4 piv e~ W

C:0.33 US
Vinb : 1.5 V XVX wﬂilq

Var

@ 'é"] @»zv



Q:) The property of sand by virtue of which it takes any
desired pattern shapes under pressure and retains it
after the pressure is removed is known as:

(RRB SSE Shift-11101.09.2015)
\J:/ Plasticity

B : Flow ability

C : Porosity

D : Collapsibility




Q:) The diameter of the sieve used for finding liquid
limit is.....
(SSC JE 23.09.2019 evening)

A : 376 microns
B : 250 microns ’20 M w
C: 125 microns 8

425 microns

L) CGM rond, %D[S&
~ AT




Q:) The liquid limit is determined from casagrade
apparatus.The apparatus consists of a semispherical

brass cup that is repeatedly dropped onto a hard rubber
base from a height of:

(DFCCIL Civil JE 10.11 2018




Q:) The height of free fall of cup while determining
liquid limit by using cassagrade’s liquid limit device
should be-

(SSB Himachal pradesh 18-11-2018/ DFCCIL Civil JE
10.11.2018)

A :1cm Mm
B:0.5cm —
C:2cm

D:1.5¢cm



Q:) Find the shrinkage ratio of a soil sample whose
plastic limit and liquid limit values are 30% and 42%,
respectively, and the values of perceni;g:-of volume
change from liquid limit to dry state and plastic limit to
dry state are 35% and _22% res,‘p.\?ccl'.mely._o_f_d[y_volu ae.
(DMRC 18.04.2018 4.30 pm) | |} y
A:0.965 |45y (O%M
B:1.83
C:0.74




Q:) Which of the following represents the range of
plasticity index for silt?
(SSC JE 29-01-2018 evening shift)

«H:10t0 15 @
B:15to 25

C:25to 35 i

D:35to45




Q:) A soil sample has liquid limit as 45%, plastic limit as
25% and shrinkage limit as 14% for a natural water
content of 30%, the liquidity index of the soil will be
(UK combined AE Paper-I, 2012)

A:0.75

gios Y Tz Wit

D : None of the above




Q:) Which one in the following list does not possess
plasticity?
(UKPSC AE Paper-|1 2007 & 2012)

A : Benotonite
B : Kaolinite
géRock flour

: Fat clay




Q:) The water content of soil which represents the
boundary between plastic state and liquid state is
known as:

(Rajasthan JE 2015/ ISRO 2015 / UPPCL JE 2013/ BSPHCL
JE Civil 29.01.2019 Batch-2)

A Liquid limit

B : Plastic limit .
C : Shrinkage limit QA%
D : Plasticity index SOQQ'/

Ws D @




Q:) This is a field method of determining rough value of
+¢B water content:
(M.P. SUB. ENG. morning 4 april 2016)

SpP*sand bath method

B : Calcium cabide method
C : Pycnometer method — rq(_}\k
D : Oven drying method

Begh bl



Q:) Swelling potential of a soil is indicated by:
(HPSSSB JE 03-07-2016)
A : Sensitivity of the soil
PA Activity of the soil

C : Permeability of the soil

D : Compressibility ?f the soil

@ 0"5‘




Q:) A soil was tested in a national research center and

its liquid limit was found to be 15% and plasticity index

was found to be 3%. According to Cassagrande's

plasticity chart, which soil type is this? |

(DDA JE 23.04.2018 First shift) 6\

A:CL -/

B:Cl WL "(‘5/

Lg# ML 17- 1 Mi-p AN,

D : MH @ . I i o 70" 13Ch )

e Q?-/ ML 9731y -

S 1T

| /&e

oy,
W




Q:) The coefficient of uniformity of a soil is 16 and the
cofficient of curvature is 1, then what is the ratio

DGO/DBO? Q’_
(DDA JE 23.04.2018, 12:30-2:30 pm) (¢ - 430




Q:) In liquid limit test, casagrade tool cuts a groove of
.... mm wide at bottom.
(DMRCJE 12.04.2018 12:15 pm)
A:13.7
:M ’

B:8
11 @
D:12




Q:) The minimum size of grain of silt is about
(SSC JE 2015)

0.06w
J n @ () O it
D:1mm 25»&"' o(“}- é(Ua

< -—ola@



Q:) If the material of a plane of a casagrade, liquid
border device is soft in comparison to the standard hard

rubber on which a @IIed with clay paste falls, then

(LMRC JE 2016)
_% Liquid limit of soil always rise g
B : The liquid limit of clay may rise T
C : The liquid limit of clay may @se W F
Kubby,

D : Liquid limit of soil always declines




[7 Q:) A clay in flocculated structure has....
(Civil ESIC JE 2019)

A : Low permeabilitygew strength and high
? compressibility @

- . High permeability;igh strength and low_
compresibitity
/ C : Low permeability, high strength and low
compressibility
~ D : High permeability, high strength and high
compressibility




Q:) What will happed to the permeability of soil mass if
air is entrapped in its voids?
(LMRC JE 13. 05 2018 Shift-1)
A : Increases

\BF Decreases
C : Entrapped air does't affect permeability
D : Depends on the viscosity of the fluid




Q:) Ked#'ng the compaction curve in mind.The soil that is

In wet part.
(NWDA JE 2019 (12.30 to 2:30 pm)

w Op'@m area has higher permeability than the dry

part ATYS i

B : More than the dry part of the optimum area shear is

capable
S Is a dispersed structurefd
D : Is a puffied strycture

iy

\



Q:) Coefficient of consolidation for clays normally:

(L.LM.R.C. JE 2015)
w Decreases with increase in liquid limit

B : Increases with increase in liquid limit

C : First increases and then decreases with increase in

liquid limit

D : Remains constant at all liquid limits

Qe L (Ces atoguyg
WL




Q:) The equationg = C + s tan @@ is given by
(SJNVL JE 07-10-2018 SSC JE 2009)
A : Rankine

W‘ Coulomb
C : Newton 'E-:.

D : Mohr

ol




Q:) Which of the following methods is NOT a type of
test to determine the shear strength?

(DMRC 18.04.2018 4.30 pm)
(& Three dimensional consolidation test

3_ Vane shear test
C Ynconfined compression test
D }Confined compression test




Q:) The graphical method for the determination of earth
pressure is:

(M.P. Sub Engg. 4 sep 2018 9.00 am)

Mebhann's method
ipe OV

B : Taylor's method— §W{-a
D : New mark's influence chart method

C : Mohr's diagram method
B Tl
—




Q:) For bulk heads, which of the following earth
pressure theory is applied directly?

(SSC JE 27-10-2018 evening shift)

A : Coubomb’s theory.
B : Rankine's theo
C : Coubomb's theory and rankine's theory both

* None of these

O
=




Q:) Rise of water table above the ground surface causes

(H.P. SSC JE 2015)
: Equal increase in

stress
B : Equal decrease in pore water pressure and total

_6_- — YS&LL— stress

Y w l.. C:lIncrease in pore water pressure but decrease in total

e water pressure and total

({ o stress
--':_S L’Q D : Decrease in pore water pressure but increase in total
stress

O-; \6‘0)'\-\.7 ‘Mht T
A iy hrlhz)



Q:) When compared with open z?issons, floating
caissons generally ....... %V\ J v
(SSC JE 23.09.2019 morning) S‘Mk 603 ~ .
A : Have a greater depth below the ground surface

B_: Have a slow and inconv$ient installation

: Are less expensive
D : Have a higher loads-carrying capacity

Open,

(|05ey



Q:) A settlement of footing under immediate elastic
settlement, the inflience factor (I, ) for circular shape
rigid footing is:

(LM RCL ASST. MANAGER 15.05.2018)

w9,




Q:) In a standard penetration test the numb ro WS
required for penetration of ground for; 5
cm and 60 cm from ground level ar
the observed SPT value is: QDOO ”\M
(UPRVUNL JE 2019)

A:22

= 11

D:9




Q:) The type of bearing capacity failure at shallow depth
in very dense sand is calledz—)/

(LMRC JE 13.05.2018 shift-I) @ sl an

A : Punching failure

B : Local shear failure

C : Combined local and shear failure
\Lgn/ eneral shear failure

0

yny




Q:) The foundation in which a cantilever beam is
provided to join two footing is known as.....

(M.P. Sub Engg. Draftman 1 sep 2018 9.00 am)
A : Combined footing

B : Raft footing

C : Strip footing Sjm OLW ..

1. Strap footing




Q:) The maximum intensity of loading that the

foundation will safety carry without the risk of shear
failure of soil irrespective of any settlement that may

occur is called as:
(DDA JE 23.04.2018 first shift)
A : Allwable bearing capacity

B : Ultimate bearing capaaty% - ' |
WSafe bearing capacity d %‘f ﬁéo@%
\

f loading capacity




Q:) The figure given below represents the contact pressure
$lU0JtD(9-—7 distribution on underneath as (UK Combined AE paper-I, 2012)

L& Rigid footmg on saturated soil

ngld footing on sand X K &WW
Flexlble footing on saturated clay d4.)"r L
Kﬂexlble footing oﬂ‘J e
I 0(_ +lacap| Soned

ll

2 ) =
E J\l&?_@_



Q:) A load of 4000 kN is uniformly distributed over an
area of 3 m x 3 m. Average vertical stress at a depth of 2
m below will be (assuming 2 vertical : 1 horizontal

distribution)-
(UTTRAKHAND AE 2013) 4 000ky/

: 250 kN/m? &
02 ﬁa’o@: 160 |<|\|/m2
>A57¢ 1 200 kN/m?

hn
D : 220 kN/m? | 9m
(,GOKM mL ﬁ
/J/ _, '?n)
Im ¢ 3') "

d



Q:) The contact pressure on uniformly loaded circular
footing resting on clay, at the centre is:

(UPPCL JE 2015) - '
A : Sinusoidal i! (U\l MW‘?
B : Equal

C : Maximum
D: Minimum



Q:) The minimum settlement that is to be observed for
ending teh plate load test is-

(AIRPORT AUTHORITY OF INDIA JE 2015)

A:10mm




Q:) Static cone penetration test is usually conducted

e e —

when the structure is likely to be founded on:
(ESIC JE 2016)

A : Shallow foundations
: Pile foundations

C : Drier foundation

D : Improved groung




Q:) In a grillage footing, the maximum shear force
occurs at the

(IOF JE 2015)

A : Edge of grillage beam
B : Centre of base plate

C : Centre of grillage beam
: Both Aand B




Q:) The method of exploration was developed
in connection with prospecting useful minerals and oils.

(M.P. Sub Engg. 4 sep 2018 9.00 am)
: Geo physical

B : Rotary boring -~

C : Sub surface soundmL




Q:) The largest value of stability number
(LMRC JE 2016)

A:1l
1/.0.261
C:2

D:0.5



Q:) Standard penetration resistance in very stiff clays
lies between:

(SSC JE 2010)

A:2to4

B:4t08 {g_.. 20

C:8to 15

\uy/‘so - (9/0 Lk % |

4




Q:) Mechanical stabilization of soil be achieved by
which process?

WProper grading

C Wbiilization
A 4




Q:) The most suitable soil for compressed air tunneling
IS

(H.P. SSC JE 2015/Hariyana SSC JE 2015)

A : Silt

B : Sand

C: Clay

D : gravel C HOMJ-'WN k)
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